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Part A Section |

1.In the figure , ABCD is a parallelogram . Then

find the value of x and y.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9grniUb0x95N

o Watch Video Solution

2.In the given figure , ABCD and AEFG are two

parallelograms . If Z/C' = 55°,then find ZF.


https://dl.doubtnut.com/l/_9grniUb0x95N
https://dl.doubtnut.com/l/_qWoCTXtPfhZh

E

o Watch Video Solution

3. If (k+2,3k+2) is a solution of the linear

equation 3x-5y=13, then find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_qWoCTXtPfhZh
https://dl.doubtnut.com/l/_L0KH4FHPD9vX

4. simplify (81)'% x (81)*%

o Watch Video Solution

5.1n the given figure, find the value of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_LHeRmunRCqP2
https://dl.doubtnut.com/l/_lRVEk6Yvv0LL

6. In the given figure, if PQRS is a cyclic
quadrilateral with respective angles. Find , the

ratio of xand y.

o Watch Video Solution



https://dl.doubtnut.com/l/_1LFCiEkLfcxY
https://dl.doubtnut.com/l/_PCVUizqkDZ7n

7.1n the given figure , find ZCAFE

° Watch Video Solution

8. If the coordinates of two points are A(3,4)
and B(-2,5), then find the value of (abscissa of

A) - (abscissa of B).

| s |


https://dl.doubtnut.com/l/_PCVUizqkDZ7n
https://dl.doubtnut.com/l/_MBk4pbZKdpBp

| @ watch Video Solution |

9. Read the bar graph given below which
shows production of food grains in an Indian
state during 5 consecutive years and answer

the questions that follows :

g
1

Production of food grains
(hm evillicen tomines) —
=S ¥EECR JE S
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After which year, was there a sudden fall in the

production ?


https://dl.doubtnut.com/l/_MBk4pbZKdpBp
https://dl.doubtnut.com/l/_5lb4tK5wBWtW

° Watch Video Solution

10. In triangles ABC and DEF,
LA = /D, /B = /F and AB=EF. Will the two
triangles be congruent ? Give reasons for your

answer.

o Watch Video Solution

11. Find an irrational humber between E and



https://dl.doubtnut.com/l/_5lb4tK5wBWtW
https://dl.doubtnut.com/l/_5xeTJC7dEX7o
https://dl.doubtnut.com/l/_98nGIbItb8oT

& Wwatch Video Solution ]

12. If (25)2 = 4” then find the value of 3%.

° Watch Video Solution

13. If (2,0) is a solution of the linear equations

2x+3y=k, then find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_98nGIbItb8oT
https://dl.doubtnut.com/l/_swb2iKTI0Byk
https://dl.doubtnut.com/l/_48XKDHyershX

14. If the given figure , M, N and P are the mid-
points of AB,AC and BC respectively. If MN=3
cm, NP=3.5 cm and MP=2.5 cm, calculate BC , AB

and AC

° Watch Video Solution



https://dl.doubtnut.com/l/_nkhytjbTVb1f

15. Three coins are tossed simultaneously 100

times. The following outcomes are recorded :

QOutcomes 3 tails 2 tails 1 tail no tail |
Frequency 23 28 23 26

Find the probability of getting more than one

tail.

o Watch Video Solution

16. Find f(0) for f(t)=3t> — 10t + 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_9phOO8BCeBOm
https://dl.doubtnut.com/l/_hTXM15eGkPrE

17. 30 children were asked about the number
of hours they watched TV programmes last

week. The result are recorded as under

Number of hours | 05 510 1015 | 1520
Frequency | 8 16 4 \ 2

Can we say that the number of children who
watched TV for 10 or more hour in a week 22?7

Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_qv0jmHXmSL44

18. In a bar graph, 0.2 cm length of a bar
represents 100 people . What is the length of

bar which represents 1300 people ?

o Watch Video Solution

19. Find the point at which the graph of the

linear equation 2x+3y=6 cuts the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_lnicq30m84lV
https://dl.doubtnut.com/l/_WUVYKrPKWJqX

20.Is x=3,y=0, a solution of y-3=07?

o Watch Video Solution

Part A Section li

1. Following frequency distribution gives the

weights of 38 students of a class :

Weight 31-136- 41- 46-|51-|56-|61-|66- 71-
(in kg) 35 |40 | 45 50| 55|60 65|70 75
Numberofl 9 | 5|14| 3| 1| 2|21 1
students

Based on the above information, answer the


https://dl.doubtnut.com/l/_pKryJXLf0XoZ
https://dl.doubtnut.com/l/_hOdWnsLi8V6R

following questions.

Define an event whose probability is 1.

A. weight is more than 50 kg

B. weight is less than 31 kg

C. weight is at least 31 kg

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hOdWnsLi8V6R

2. On the occasion of diwali , Sneha made a
rangoli. By using two different colours red and
green as shown in given figure. Answer the

following questions :

Find the semi-perimeter of 1 triangle.


https://dl.doubtnut.com/l/_9Io52qR2IhzR

A. 22 cm

B.44 cm

C.55cm

D. 67 cm

Answer: C

o Watch Video Solution

3. On the occasion of diwali , Sneha made a
rangoli. By using two different colours red and

green as shown in given figure. Answer the


https://dl.doubtnut.com/l/_9Io52qR2IhzR
https://dl.doubtnut.com/l/_HlCMU9Y1WlXb

following questions :

Find the area of rangoli covered by red colour

A. 501/77cm?
B. 1001/77cm?

C. 1504/77cm?


https://dl.doubtnut.com/l/_HlCMU9Y1WlXb

D. 35 cm?

Answer: B

° Watch Video Solution

4. On the occasion of diwali , Sneha made a
rangoli. By using two different colours red and
green as shown in given figure. Answer the

following questions :


https://dl.doubtnut.com/l/_HlCMU9Y1WlXb
https://dl.doubtnut.com/l/_WwXhVCgmP4sn

Find the area of rangoli covered by green

colour

A. 192 cm?

B. 386 cm?

C. 215 cm?


https://dl.doubtnut.com/l/_WwXhVCgmP4sn

D. 2004/77 cm?

Answer: D

° View Text Solution

5. On the occasion of diwali , Sneha made a
rangoli. By using two different colours red and
green as shown in given figure. Answer the

following questions :


https://dl.doubtnut.com/l/_WwXhVCgmP4sn
https://dl.doubtnut.com/l/_Taz3tWq3KOM6

What is the total area used for rangoli ?

A. 30077 cm?
B. 250 cm?
C. 350 cm?

D. 216+/77cm?


https://dl.doubtnut.com/l/_Taz3tWq3KOM6

Answer: A

o Watch Video Solution

6. On the occasion of diwali , Sneha made a
rangoli. By using two different colours red and
green as shown in given figure. Answer the

following questions :


https://dl.doubtnut.com/l/_Taz3tWq3KOM6
https://dl.doubtnut.com/l/_RrslHZ3ojJRO

If the cost of colours is Rs. 5.5 per cm? , then
find the total cost of colours used in rangoli
approximately.

A.Rs. 14478

B. Rs. 9630

C. Rs. 15840


https://dl.doubtnut.com/l/_RrslHZ3ojJRO

D. Rs. 14444

Answer: A

o View Text Solution

7. Polynomials are widely used in the field of
medicine and pharmaceuticals like drug
testing. Many drugs tested on various patients
to check their effects. Likewise, the given
polynomials is used to understand the

concentration of a particular drug in the


https://dl.doubtnut.com/l/_RrslHZ3ojJRO
https://dl.doubtnut.com/l/_iMf9wRpU9ekg

blood of a patient at various intervals of time .

O = concentration of drug in blood
after t hours
Clt) = =2¢" + 67 - 81 + & my/decilitre

Based on the above information , answer the
following questions .

The coefficient of t in the given polynomial is

A —2
B.6
C. -8

D.8


https://dl.doubtnut.com/l/_iMf9wRpU9ekg

Answer: C

° View Text Solution

8. Polynomials are widely used in the field of
medicine and pharmaceuticals like drug
testing. Many drugs tested on various patients
to check their effects. Likewise, the given
polynomials is used to understand the
concentration of a particular drug in the

blood of a patient at various intervals of time .


https://dl.doubtnut.com/l/_iMf9wRpU9ekg
https://dl.doubtnut.com/l/_dMUILdHnGxPd

O = concentration of drug in blood
after t hours
Cr) = 28" + 61 - Bt + & my/decilitre

Based on the above information , answer the

following questions .

What is the degree of the given polynomial ?

Al

B.2

C.3

D. Can't say

Answer: C


https://dl.doubtnut.com/l/_dMUILdHnGxPd

° Watch Video Solution

9. Polynomials are widely used in the field of
medicine and pharmaceuticals like drug
testing. Many drugs tested on various patients
to check their effects. Likewise, the given
polynomials is used to understand the
concentration of a particular drug in the

blood of a patient at various intervals of time .

O = concentration of drug in blood
after ¢ hours
Cr) = 26" + 61 - Bt + & my/decilitre



https://dl.doubtnut.com/l/_dMUILdHnGxPd
https://dl.doubtnut.com/l/_1alG65Aw3u3Y

Based on the above information , answer the
following questions .
What is the value of the polynomial if the

value of the variable is 0 ?

Al

B.O

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1alG65Aw3u3Y

10. Polynomials are widely used in the field of
medicine and pharmaceuticals like drug
testing. Many drugs tested on various patients
to check their effects. Likewise, the given
polynomials is used to understand the
concentration of a particular drug in the

blood of a patient at various intervals of time .

O = concentration of drug in blood
after ¢ hours
Cit) = -2t' + 687 - 81 + B my/decilitre

Based on the above information , answer the


https://dl.doubtnut.com/l/_1alG65Aw3u3Y
https://dl.doubtnut.com/l/_b7HkW4KUYDhT

following questions .

Find the value of C when t=-1

A 4

B. 24

C.0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_b7HkW4KUYDhT

11. Polynomials are widely used in the field of
medicine and pharmaceuticals like drug
testing. Many drugs tested on various patients
to check their effects. Likewise, the given
polynomials is used to understand the
concentration of a particular drug in the

blood of a patient at various intervals of time .

' = concentration of drug in blood
after t hours
C(r) = -2t" + 607 - 81 + 8 my/decilitre

Based on the above information , answer the

following questions .


https://dl.doubtnut.com/l/_Ol6SpvTz3DIw

For which value(s) of 't', the value of the

polynomial is O ?

A2

B. —2

C.1

D. All of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ol6SpvTz3DIw

12. Geeta is doing embroidery. She made three
circles of various sizes on a table cloth as
shown here. Answer the following questions if
the circles are of radii 5 cm, 10 cm and 13 cm

Based on the above information , answer the

following questions.

Find the length of chord EF drawn to the


https://dl.doubtnut.com/l/_HphuIKsgvdA3

smallest circle at a distance of 4 cm from its

centre.

A.3cm

B.6cm

C.8cm

D.10 cm

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_HphuIKsgvdA3

13. Geeta is doing embroidery. She made three
circles of various sizes on a table cloth as
shown here. Answer the following questions if
the circles are of radii 5 cm, 10 cm and 13 cm

Based on the above information , answer the

following questions.

The chord EF makes angle 50° at centre of


https://dl.doubtnut.com/l/_c65KkHk6gp9U

circle with centre C, then angle made by it in

its alternate segment is

A.100°

B.50°

C.25°

D. 150°

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_c65KkHk6gp9U

14. Geeta is doing embroidery. She made three
circles of various sizes on a table cloth as
shown here. Answer the following questions if
the circles are of radii 5cm, 10 cm and 13 cm

Based on the above information , answer the

following questions.
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If the angles subtended by the chord formed


https://dl.doubtnut.com/l/_yqFfl6UzCH7r

at points of intersection of circle of radius 10
cm and 13 cm is 70° at the centre B, then what
is the angle subtended by it in its alternate
segment ?

A 35°

B.105°

C. 140°

D.21°

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_yqFfl6UzCH7r

15. Geeta is doing embroidery. She made three
circles of various sizes on a table cloth as
shown here. Answer the following questions if
the circles are of radii 5cm, 10 cm and 13 cm

Based on the above information , answer the

following questions.
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https://dl.doubtnut.com/l/_yqFfl6UzCH7r
https://dl.doubtnut.com/l/_yEV5uZb2OOvW

X and Y are the two points on circle with
centre A. If the common chord PQ of circles

with centres A and B subtend an angle of 60°

at A, then find the value of ZPXQ + ZPY ()

A.60°

B.30°

C.90°

D.120°

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_yEV5uZb2OOvW

16. Geeta is doing embroidery. She made three
circles of various sizes on a table cloth as
shown here. Answer the following questions if
the circles are of radii 5cm, 10 cm and 13 cm

Based on the above information , answer the

following questions.

] - -
3 x L F‘-;_ - .\_"'_:\_
"u, - .| ‘1-
b ..-"?:‘n 5 .
. '] L i LI
[ ] ] [ W
i .l Ao 7Ty N "Il.
[ | ] [


https://dl.doubtnut.com/l/_yEV5uZb2OOvW
https://dl.doubtnut.com/l/_CqvzdeXI8osd

The sum of either pair of a cyclic quadrilateral

IS

A.90°

B.180°

C.270°

D. None of these

Answer: B

° View Text Solution

Part B Section lii


https://dl.doubtnut.com/l/_CqvzdeXI8osd

1. In the given figure, If PQRS is a

parallelogram, then find the values of x and y.

3R R
2

° Watch Video Solution

2. In a survey of 300 volunteers, the following

data is obtained :


https://dl.doubtnut.com/l/_IrPIh4olzLLm
https://dl.doubtnut.com/l/_37DGoEsWG3w2

Male 120

Female 180
A people is chosen at random. Find the
probability that the chosen person

(i)is a male

(ii) is a female

o Watch Video Solution

3. A dice was rolled 100 times and the number
of times 6 came up was noted. If the

experimental probability calculated from this


https://dl.doubtnut.com/l/_37DGoEsWG3w2
https://dl.doubtnut.com/l/_GVfrdwkffK8x

information is 5 then how many times 6

came up? Justify your answer.

° Watch Video Solution

4. If x=2 and x=0 are zeroes of the polynomial
22° — 5x% + ax + b, then find the values of a

and b.

° Watch Video Solution



https://dl.doubtnut.com/l/_GVfrdwkffK8x
https://dl.doubtnut.com/l/_Q2CnimwsuZLV

5.Find the area of the given triangle.

Q 48 cm

° Watch Video Solution

6.If a sphere is inscribed in a cube, then prove
that the ratio of the volume of the cube to the

volume of the sphere will be 6: 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_S4XJv1Z8lxxd
https://dl.doubtnut.com/l/_7evso7WrcCX7

7. How many square metres of canvas is
required for a conical tent whose height is 3.5

m and the radius of the baseis 12 m?

0 Watch Video Solution

8. Using suitable identity, prove that :

(0.67)° + (0.33)°

(0.67)% — (0.67 x 0.33) + (0.33)° -

o Watch Video Solution



https://dl.doubtnut.com/l/_7evso7WrcCX7
https://dl.doubtnut.com/l/_pJUn62wvf8jr
https://dl.doubtnut.com/l/_wlQ5jg5RBoof
https://dl.doubtnut.com/l/_Vw7p6WkYgJJM

9. Insert two irrational numbers between 5

and 6

° Watch Video Solution

10. Insert two irrational numbers between 2/3

and 3/4

o Watch Video Solution



https://dl.doubtnut.com/l/_Vw7p6WkYgJJM
https://dl.doubtnut.com/l/_v3dVtgYuYEmf

M. BC is a chord with centre O. A is a point on
an arc BC as shown in Figure. Prove that:

/BAC — ZOBC = 90°, if A is the point on

the minor arc

o Watch Video Solution

12. In the given figure, ZOAB = 30° and

Z0CB = 57°


https://dl.doubtnut.com/l/_32u5OXzJIJ5Z
https://dl.doubtnut.com/l/_WilEfCKvhomd

Find ZBOC
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o Watch Video Solution

13. Plot the following points on a graph sheet

and join them in order


https://dl.doubtnut.com/l/_WilEfCKvhomd
https://dl.doubtnut.com/l/_ktfaA340swno

P(-6,4),0(-4,-3),R(5,-3),5(2,4). Also, mention the

quadrants in which the points lie.

° Watch Video Solution

14. Draw lines PQ and RS intersecting at point
O. Measure a pair of vertically opposite angles.
Bisect them. Are the bisecting rays forming a

straight line ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ktfaA340swno
https://dl.doubtnut.com/l/_s0jxJ1nJUvxR

15. Draw a line AB=79 c<m and draw
perpendiculars at A and B. Are these two

perpendiculars parallel to each other?

o Watch Video Solution

16. If a = /8 + /7, then find the value of

5 1
a—2—|——2
a

° Watch Video Solution



https://dl.doubtnut.com/l/_yp4JJK7Lloay
https://dl.doubtnut.com/l/_fpV3YfvhIpAy

17. ABC is a right triangle with AB = ACIf
bisector of /A meet BC at D then prove that

BC=2AD.

o Watch Video Solution

Part B Section Iv

1. Draw the graph of the following equations

on the same graph sheet.

x=4x=2,y=1,y-3=0


https://dl.doubtnut.com/l/_B8on3bgcWKED
https://dl.doubtnut.com/l/_91EJI0xfdpNP

Also, find the area enclosed between these

lines.

° Watch Video Solution

2. Draw the graph of the linear equation y-x=2.
Find the points of intersection of it with both

axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_91EJI0xfdpNP
https://dl.doubtnut.com/l/_TBUKBis5ozyj

3. Length of a classroom is three times its
: : N :
height and its breadth is 25 times its height.
The cost of white-washing the walls at the rate
of Rs.1.60 per m? is Rs. 158.4 . Find the cost of

tiling the floor at the rate of Rs. 10 per m?

o Watch Video Solution

4. Prove that the line segment joining the mid-

points of the diagonals of a trapezium is


https://dl.doubtnut.com/l/_SKhKBP9awvmG
https://dl.doubtnut.com/l/_ru8Kd02iextc

parallel to each of the parallel sides and is

equal to half the difference of these sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_ru8Kd02iextc

